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NEW QUESTION 1
The Cisco Nexus switch is connected to a peer switch that is not running Cisco NX-OS. The switches are connected using port channel and are experiencing
packet loss. Which action should be performed on the Cisco Nexus switch ports to resolve this issue?

A. Turn on lacp suspend-individual.
B. Turn on lacp graceful-convergence.
C. Turn off lacp graceful-convergence.
D. Turn off lacp suspend-individual.

Answer: C

NEW QUESTION 2
Refer to the exhibit. vPC between switchl and switch2 is not working. Which two actions are needed to fix the problem? (Choose two.)

A. Match vPC domain ID between the two devices.

B. Configure IP address on the interface.

C. Activate VLANSs on the vPC.

D. Configure vPC peer link and vPC peer keepalive correctly.
E. Configure one of the switches as primary for the vPC.

Answer: AC

NEW QUESTION 3
An engineer removes a VMM domain from an endpoint group called EPG-1, but the distributed port group fails to be deleted. Which action must be taken to
resolve the issue?

A. Remove the port group manually.

B. Migrate all virtual machines in the EPG-1 to different hypervisors.
C. Remove the remaining EPGs from the VMM domain.

D. Migrate all virtual machines in the EPG-1 to different port groups.

Answer: C

NEW QUESTION 4
An engineer attempts to register Cisco UCS Manager to Cisco UCS Central, but the registration fails. The engineer can ping Cisco UCS Central from UCS
Manager. Which two actions must the engineer attempt to resolve the problem? (Choose two.)

A. Synchronize the date and time to NTP for Cisco UCS Central and the Cisco UCS domains.
B. Apply the UCS Central license to UCS Central.

C. Place Cisco UCS Manager on the same subnet as Cisco UCS Central.

D. Allow port 443 between Cisco UCS Manager and Cisco UCS Central.

E. Allow port 9443 between Cisco UCS Manager and Cisco UCS Central.

Answer: AD

NEW QUESTION 5
Cisco Unified Computing System Manager raises a critical error message that indicates that the system has overlapping Ethernet and FCoE VLANSs. All of the
Ethernet traffic on the overlapping VLANs drops. Which action resolves the issue?

A. Modify the VLAN assignment to vNICs.

B. Change the PIN groups on the vHBAs.

C. Modify the FCoE VLAN.

D. Set the FCoE VLAN as the native VLAN on server uplinks.

Answer: A
NEW QUESTION 6
DRAG DROP

Drag and drop the actions from the left onto the faults that they resolve on the right. Not all options are used.
Select and Place:
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

NEW QUESTION 7
Refer to the exhibit. A new Cisco Nexus 5548 Switch connects to a network. SAN switching is configured on the switch. The switch fc2/10 NP uplink is shown in
the exhibit. Which action ensures that fc2/10 is in an up state?

A. Replace the SFP port module in fc2/10.

B. Configure the admin port type E on the upstream switch that connects the port.
C. Enable NPIV on the upstream switch that connects the port.

D. Configure the BB_credit buffers on the upstream switch that connects the port.

Answer: C

NEW QUESTION 8

DRAG DROP

Drag and drop the commands from the left onto the correct categories on the right.
Select and Place:

A. Mastered
B. Not Mastered

Answer: A

NEW QUESTION 9
Refer to the exhibit. After the configuration is performed, guestshell continues to use 2%CPU. Which action resolves the issue?

A. Resync the database
B. Recreate the guestshell
C. Reboot the guestshell
D. Reboot the switch

Answer: C

NEW QUESTION 10
An engineer is troubleshooting a custom AV pair that was created by a client on an external authentication server to map a read-only role for a specific security
domain. Which AV pair solves the problem?

A. shell:domains=Security Domain_1//Read_Role_1|Read Role 2
B. shell:domains=Security_Domain_1/Write_Role_1|Read_Role_2
C. shell=Security_Domain_1/Read_Role_1|Read_Role_2

D. shell:domains=Security_Domain_1/Read_Role_1|Read_Role_2

Answer: A

NEW QUESTION 10
A request to activate the port security database is rejected. Which action do you perform to investigate the cause of the issue?

A. Enable the auto-learning feature.

B. Use the force option to identify rejected devices.

C. Find conflicting entries between the active and configuration databases.
D. Verify that devices are fully attached to the active database.

Answer: B

NEW QUESTION 14

Refer to the exhibit. Cisco UCS Manager is being upgraded using the Auto Install feature, but the FSM fails. Which action resolves the issue?
A. Acknowledge the primary fabric interconnect.

B. Remove the service pack from the subordinate fabric interconnect.

C. Clear the startup version of the default infrastructure pack.
D. Upgrade the firmware of the infrastructure firmware by using the force option.
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Answer: C

NEW QUESTION 18

After upgrading a client’s fabric interconnect to the latest version, an engineer discovers that the appliance has lost its entire configuration. Which two locations
should an engineer check to confirm that the appliance had backed up the configuration prior to the upgrade in order to retrieve the lost configuration? (Choose
two.)

A. Equipment FSM page, InternalBackup stage

B. Service profiles page, InternalBackup stage

C. Admin page, PollinternalBackup stage

D. Equipment FSM page, PollinternalBackup stage
E. Admin page, InternalBackup stage.

Answer: AC

NEW QUESTION 19
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